Math 121 Sec FO6N05/F06IN06 - Final Exam Dec 7 2006

Question 1: Find the derivatives of the following functions (you do not have to simplify your
answers):

1 1 %. "i 1
a)[3 points] y=vVz2——=—-—— = K - U
(2)[8 points] -7 x *- =
-1 3
f _ A 2 -z
Yy = 32X + 3 X

(b)[3 points] f(z) =z°sinz

“

Floy = sx'simx +x" cos x

3
(c)[4 points] ¢(t) = (_t—:—ﬁ§

@‘(:k) :. ﬂi’\ﬁ(ﬁ:”) - (%) 3(“t*’l)L
(:1:~|)(°
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/™ Question 2:

(a)[3 points] Let f(z) = Si;l_(:r;) . Compute f'(2).

Py = (xt2) Cos(mr) - - Siwl Tx) (V)

(x+2)*

. , o
() coslaDy.w - St ER)
LE?’ '

. 4‘(2.)

H

e

d ; 5
(b)[3 points] Find d—z where y = <g;2 + %)

2 s 5 (Kex) (27-55)

: : z
(c)[4 points] Compute y’, where y = cos*(vVzt+1). = [(/DS (,)7(, i-H )J

i

Yy = 200'5(];?*—‘\) ('S:V»(m)(%:)()(q-u)i{(‘-tx?)
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; ) Question 3:

(a)[3 points] Compute lim 3 \/E.

z—9- T —9
(:W\ 3“)—52 = [lm 3"5;? . 2-'.57?
%297 -9 X9 x-9 7+
29 @-a)(3+0)
= Lo - (x5 - =
: L=T] (2 + %) 6
2 —
(b)[3 points] Compute / m——%dm.
S'x%zx-gd . s q
) T [ a2 3 etx
—_ -1 -2 -2
= X T ZX 4 3x +C_
>y 3
= - 4 - —'"i +_L.. +C_
X X ’7(3

(c)[4 points] The function f(z) satisfies the differential equation f”(z) = 2z + 1, where f(0) =1
and f'(0) = —1. Find a formula for f(z).

Fly = f)xﬂﬂx = 2_-_?.C;+x+c, = xz‘+x+c
\
f'loy= =t = p+0+C = —-| D ¢=—|
o £l = x e x—)
° , _ . %3 2
| o f00 = jx ~x-lotx = S %_x+t
/ ()= = o+o-0+C = ' N |
He) ? [.’.§lx)= Z_i-ex—-'x*\J
% C—l : —_3 Z
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/y  Question 4: y is defined implicitly as a function of z by the equation
y2(z? + y?) = 222 .
(a)[7 points] Find the equation of the tangent line to the the graph of this equation at the point
(1,1). .
2
2%3' (x*+9%) + 4 (m—@w’) = 4x
H t:)’ + 2+ La/ = 4

by Z
d =
3

n

tgl =
I —';-Cx,-\),

(b)[3 points] If the point (1.1,a) is on the graph of y?(z? + y*) = 222, use your result from part
(a) to estimate the value of a.

Y-l = -%- (x-1)

3‘"‘ '13‘(76-—0-&\

Y e = L) ax+/ia-DN+ 2L
’ 7 (\1-1) 30

—
—

Lor A X PR \.o3
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Question 5: [10 points]

An oil tanker ship hits a reef and begins leaking oil at the rate of 100 m® per hour. The oil slick
forms a large disc of uniform thickness 0.03 m (that is, the oil slick is a very wide and short cylinder
floating on the surface of the water). How fast is the radius of the disc growing two hours after the
tanker hit the reef? Round your answer to 1 decimal, and state units with your answer.

— ¥ > AV - oo wm?
At hv

002 §
At £= 2 s V= 200 m3,
o Pwel olv i, V= 200,

At

VERR s

%

tY [u V) [T(ao’&)‘l \l‘/L

A & 1yt av
At ['W(,D-D?)] "V ;_'E

T (0.03)

= p 4 -l
W /= 200 A [( }C‘;‘_)Cz()o)l<\00)

0.. V‘ )
— = s v
oAt
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Y Question 6: [10 points]

Three large square pieces of tin of side length
1 m each have four squares of side length z cut
from their corners. The twelve cut out squares
are used to form two closed cubes. The three )

cross shaped pieces of tin are folded to make [ [ :1:
three boxes without tops.

1m

one of the three pieces of tin

(a)[2 points] Let V(z) be the total volume of the 2 cubes and 3 boxes. Determine a formula for
V(x).

V)= 2% + 3x(i-29"

(b)[1 point] Establish the domain of V(z). Have your domain include the possibilities that (i) no
. small squares are cut out (i.e. z = 0), and (ii) the other extreme: the twelve cut out squares
- use up all of the tin.

Dernovrm 3 Eo, 7\_]

(c)[7 points] Using (a) and (b), determine the value of z which produces the maximum possible
total volume of the boxes. Round your answers to 2 decimals.

waxinmge V9= 2xP«3x (1-ax)” e~ [o,%] ¢
Vo = 6x + 3 (-2%) T 3% (2) (1-2x) (2)

= b +3 (I-dx+d4x)=1z2x U x*

Y V (%)

= qaxt ~24y +3 | © 0

= 3 (X —gx ), | e O.\¥

V' .
(D=0 = x= TEILY-H4LQ)0) §-Y2 | .23
. % [
)
fo'o X:'li ?mo(MwS - ?i J??‘ - ?-\:— 15-1” ?\2: 0&12/{
Ao v\ ol it q.:g[z

b e d

|
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Question 7: [10 points]

We wish to construct a cone of volume 7/3 m?3 in such a way that the total of the height and
circumference of the circular base is a minimum. Find the dimensions of the cone. (Be sure to
justify that you have indeed found the minimum. ‘

)
\)z "%.'.: -lg—TT\rtL_
[ L= W+ 2y

hWtawvy O
L i @

)
5
d.
wH T
"

-
>
& O Lbetowes L) = lwr""‘_\". \ Voo
v3 3
Led) =0 = 3= =

Y

5o Yy = L 3

=)

Suce L-“(‘"): —é—;{ >0 % aUh vso
- )

X = @r—)/s 3(\:65 o veAshol ‘i‘ clo solute
AN dz) L.

; s
noXE () m, el e
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Question 8: [10 points]

(2)[3 points] We wish to find the z intercept of the graph below using Newton’s Method. Begin-
ning with the starting value z; indicated, use a straight-edge to draw tangent lines to locate
x5 and 3, the next two approximations given by Newton’s Method. Clearly indicate and

label the points corresponding to zo and z3.

Yy
! 3
|y = f(z)
=
| /
Tyl ,fz.// _p o
- A%
A
74
/u/
7

e

(b)[7 points] You wish to solve the equation z = cos (2z) using Newton’s Method. Given that the
graphs of y = z and y = cos (2z) have one point of intersection between z = 0 and z = 1, find
z1, o and z3, the first three approximations to the solution of the equation using Newton’s

Method. Round your calculated values to 4 decimal places.
Solue Fx) = X — coS Cl'X) =0
t . »
o ) o= 1+ 2sin(ax)
o X N\

Xw_ £ xw)

-§-‘CX\J
wn— €05 (2 X)

L+ 2stn (2X)

X = O—E =05

no| X
| | 0.5
2 | o.5150
Il b
3 | 0-5147

p- 90of 12



Math 121 Sec FO6N05/F06NO06 - Final Exam Dec 7 2006

Question 9:
(a)[5 points] Suppose the line y = z + 4 is tangent to the graph of f(z) = kz?, where k is some

constant. What must be the value of k7

3 A (ake) " 37 wsing @ ! o= L
> R 2O0.
Y= foar = ey .
1) ,. y’ l -
~/‘ o atd = S
4E =
a =%

) f‘m: 2AX. 41‘(0\) = 2 ke

= | =

. = o =
At X=a we howr ke = 24 16
@ a+4= Aeat

® | = 2 4a

) (b)[5 points] The displacement of an object is given by s(t) = CTONE where ¢ > 0 is time. When

is the object stationary?

2 -C +)
L\JLaM S‘H:) =0 ! Sl('t) - (2JC -b\) (z} 3%) ("’t
(Z't -\rt)z’

Ltr+3 - 12t
(2t}
3- (ot
(2,-'(;7'-& \)1
7( 1= 2t%)
(2"

il

- \ .
2_
t= =

t= 2.

5
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‘ 2
4
Question 10: Consider the function f(z) = §+2_3£L‘_—|_-_
2+ 4
(a)[2 points] Find the horizontal asymptote(s) as well as the y intercept of the graph of y = f(x)
| n 9‘7_"'3“’1.: (L~ l+3>?*g5<7— = | % gEL s &
X kN - .
=Y x> | + -:-;!—L kavlg, qygyv\la.ta"f{-
, e
Livn Y T+ 3x +Y = lin L+ '% "'%— . j
Wy - X Ty X -~ = | ‘5 /R
L=+ %_

f()= -LLIfT = | -g‘iw‘t&\fce‘}* = (o51)

(b)[3 points] Find the intervals of increase and decrease of f(z). State the z and y coordinates
of any relative extrema.

Py = () (o) = (2743x74) (%)
(.xl+q)L
2T e+ 3 X Fe 2 -/kf'f- bx*=Px"
| R ™
- 3 (q’ Xl)
(x Fe)®

"

A
rd

R A N veA. ot ('2) 711—) )
D = @

@ > ek monc, b ( Z:‘qq:
/1C\(x): —_ +
fods N\ A N

ca fo Tnoveasing e (-2,2) |

%Q—W@Lg;”‘b o~ (—ao,—z)a»o((z\oa>

continued on next page...
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(c)[3 points] Find the intervals on which f(z) is concave up, and the intervals on which f(z)
is concave down. State the z and y coordinates of any inflection points (you may wish to
approximate the y-coordinates using your calculator).

o= Q&'H'Dl (-6x) = (12-3x* ) (2)(x*4) (2%)

(xF4) T
o (e [ ptea)en) ma (12339 ]
(.7(}'—1-‘-()’3
= 2x (3x*-36)  _ gx (x%-2)
(™) x> +Y

X - - = X
O mo D> X=o., X= T2 2z

S oot Ao~ B éwr?—H)

, X ' \ ' \\‘ é> ok (0,2]3)y concane vp e
é -2J3 @ © @ 7'5-‘_ (-Z-E,O) ; <2E‘)°°)

—

Foo: — h ‘ 2 tnflechon poiwty at”
‘> N\ ~— 7N ~ Jz,0.35). V) [T 1.65)
,c'/)() ) (—2 3)0. )(0) )(2 3) ' ?
(d)[2 points] Use your results from (a), (b) and (c) to make an informative sketch the graph of
y = f(z). | ‘
X \ 'Y-CX) o 3. n» g - int Wc&?‘t ok (OJ \)
— | st
s | 035 EA el oo
-2 0.5 | | / w%ﬂ.
o) \
2 L3S

3 = 3. V. 6S
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